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33. The average distance separating Earth and the Moon
is 384 000 km. Use the data in Table 7.3 to find the
net gravitational force exerted by Earth and the Moon

on a 3.00 X 104—kg spaceship located halfway between
them.
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An artificial satellite circling the Earth completes each
orbit in 110 minutes. (a) Find the altitude of the satel-
lite. (b) What is the value of g at the location of this
satellite?
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41. 7 A satellite is in a circular orbit around the Earth at an
altitude of 2.80 X 10° m. Find (a) the period of the orbit,
(b) the speed of the satellite, and (c) the acceleration of
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the satellite. Hint: Modify Equation 7.23 so it is suitable
for objects orbiting the Earth rather than the Sun.
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